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Part 1: L3820 (3£ 154 5404 5 352 60 5)
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2. Rm= stock index return. We run regression on stock return: R = o+ 3;eRm + B2eSize + B3eBM +
B4e DIV + BsePE. (BM=book-to-market ratio. DIV= cash dividend yield. PE= PE ratio).
Empirically, what are/is correct: (1) B, <0 (2) B2>0(3) B4a=0 (4) Bs=0 : (A) 1 only (B) 2 only ©
1 and 3 and 4 (D) 2 and 3 and 4

3. AREMSGHE (contrarian effect/fF7E » 5 EIEAURGEI AT - (A):F5BEE - (B):2f34
SRR ~ (C):FRBAEE ~ (D): HIRBMTREE ~ (B): 38MTR
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6. fRIE MM HEif(Info symmetry, zero tax), 7> ST E B E % D T 44 (F R s B of equity,
standard deviation of company’s assets, B of company’s assets, E(r) of equity, WACC, Stock price:
(A)1 B)2 (C)3 (D)4 (B)S
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8. Which of the following investors would be very happy to see the stock price rise sharply? I)
Investor who owns the stock and a put option II) Investor who has sold a put option and bought a
call option IIT) Investor who owns the stock and has sold a call option IV) Investor who has sold a
call option (A). Iand II (B). Ill and IV (C). Il only (D). IV only

9. AnIPO has the following numbers. IPO offer price = $20. Closing price on the first trading
day=$24. IPO stock return over 5 years following IPO= 50%. Stock with the same risk (compared
to this JPO): Return over 5 years= 70%. This scenario is consistent with: (A) short-term
underpricing (B) hot issues (C) long-term underperformance (D): A and C. (E): Aand B and C.

10. (ZE4F_I-RH) This scenario is also consistent with (A) RREER of this IPO has better information
than investors (B) AH%EE of this IPO has a very good timing ability (C) Investors of this IPO has a
very good timing ability (D): A and B. (E): A and C

L1 BB ETF 52 —MIsBRSREES o LU %R © (A)BIE A closed-end fund 46 open-
end fund (B){%% diversification SERELEF (C) AT E FRBILEIE D)L BT Eh=
A =]

12. Covariance (Rf, Return of HTC f$E)= (A)0% (B) positive (C) negative (D)7F -1 B2 +1 27 FS

13. Covariance (Firm-specific component of Return of HTC 555, Return of HTC HEE)= (A)0% ®B)
positive (C) negative (D)7£ -1 B +1 5. ( component= 47 )

14. There are 10,000 stocks in financial markets. All stocks have both systematic and firm-specific
returns. Only 3 stocks do not follow APT Theory. Other 997 stocks follow APT Theory. (A) An
arbitrage opportunity exists. (B) No arbitrage opportunity exists. (C) Three arbitrage opportunities
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exist.

15. The buyer of a call option has the right to exercise, but the writer of the call option has: (A). The
choice to offset the risk with a put option. (B). The obligation to deliver the shares at exercise
price. (C). The choice to deliver shares or not. (D). The choice of exercising the call or not.

Part 2: Questions (3% 4 %8 > 5% 10 - > L2 H-E 40 )

1. There are only 2 stocks in the stock market: A and B. Market portfolio return Rm = (RA+RB)/2.
PA=1.5 and BB=0.5 H—HH : RA=5%, RB=1%. F—HH : RA=10%, RB=4%. In addition, Rf=2%
(for each time period). Is there momentum effect 2 Why ? Note that Hij—#f= ranking period. F
—Hf= test period. RA= rate of return of A. RB= rate of return of B.

2. Following the above question. Abnormal return over test period (i.e., F—#E) of momentum
portfolio = ?

3. #R#% Fama-French 3-factor model: Stock expected return, E(r), TBRTEIR ? 1) BE ke
QB EEFRIREEE - :

4. Given the fact that there are too many universities in Taiwan, some universities are planning with
mergers with other academic institutions. Please use theories of mergers and acquisitions to discuss
three success factors in the planned merger between % i& A4 and [% %4 AE.






